
 

FOR FURTHER DETAILS ON ALL OUR INNOVATIVE AUDIO VISUAL PRODUCTS PLEASE VISIT OUR WEBSITE 
www.ratechnology.co.uk 

RA technology. Magnum Group. Wakefield House. Wakefield Road. Brighouse. West Yorks. HD6 1QL. 
Tel. 01484 475 950. Fax 01484 716 384 

 
 
 

PF-0717 

RA-Media-Mate-Monitor™-Mobile, Mobile-XL and Free Standing. 

Assembly Instructions  

 

 

 

 

 

 

 

 

1) Carefully position the Floor Plate of the Riser onto the top of the Trolley or Free Standing Base as seen in the 

image above and align the four fixing holes to enable the four M10 x 25mm Black Socket Button Head fixing 

bolts to be fitted. 

2) With an M10 bolt now positioned in each of the four holes, place an M10 Washer then M10 Nylock Nut on 

each bolt on the UNDERSIDE of the Trolley or Free Standing Base and tighten carefully with a 17mm spanner. 

The torque settings for M10 grade 10.9 bolts is normally 81.1Nm but because ours are self-coloured black 

they are slightly oiled and therefore the Torque settings need to be reduced by 25% to say 61Nm 

 

 

 

 

 

 


